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SOLUTIONS
SECTION-A o
1 (A) I
) Sol. CH,CHOHCH, — 2%, CH,—C—CH,
CH, CH, _ /N3O | cH 1
Sol. L ho ;
CH,—C=CH, + BH, — =2 CH,—CH—CH,OH
10. (A)
Sol. When treated with HBr or HCI alcohol
2. (C) typically undergo a nucleophilic
. substitution reaction to generate an alkyl
Sol. CH; —COOH ———— CH3;CH, — OH halide and water. Alcohol relative reactivity
order 3°> 2° > 1° > methyl . Methanol and
3. (C) primary alcohol will proceed via an SN,
o @ mechanism since these have highly
CH,—CH,—Mg—Br+ CH,—CH,—5—CH,—CH, unfavourable carbocation.
o}
Hydrolysis 1 (A)
Sol. NH,
CH,—CH, I 0-5°C
CHE—CHZ—(II—CHZ—CH3 Sol. CH,—CH—CH, + HNO,——> CH, ICH CH,
bk OH
4 12 (B)
- (C) | Sol.  CHy—CHs;—CH,—OH undergo oxidation.
CH,=CH, + HBr——> CH,-CH,-Br
Sol. —SOH 5 CH,—CH,—OH %% CHI, 13. (A)
Sol. With increase in branching, molecule
5 (B) becomes spherical and have less
’ hydrogen bonding. Hence 3° will have
Sol. CyHs—NH, + HNO, — C,Hs0OH least boiling point.
6. (C) 14, (B)
Sol. Lederer-Manasse reaction gives ortho and (IDH
para product only. Sol. (1) cH,MgI+ CH,cHO —™2  CH,—CH—CH,
2°Alc.
7. C 2
(©) oH (2) (CH.C= CHw(CHE)—cI: CH,
CH, - &H - CH, + Cr (VI)—> 4951
Sol. c.
CH, - ? - CH, + Cr (III) Na®
I (3) CH,COOC,H,——==>CH, - OH + CH, -~ COOCH,
CsHso 1°Alc.
QH
8. (B) CH,—CH—C,H, —Enantiomeric pair due to
OH
CH—CH—CH—CH, 20110 (4) CHa CH,
I
Sol. 0 H—C—OH = OH—C—H
I
CH3—CHZ—g—CH3 R ' R




15.

Sol.

16.

Sol.

17.

Sol.

18.

Sol.

19.

Sol.

20.

Sol.

21,

Sol.

22,

Sol.

23.

Sol.

24,

Sol.

25,

Sol.

(B)
CH3COOH + CQHs—OH H—®) CH3_
CO—O0OC,Hs5 + H,O

(A)
Pyridine absorbs acid formed in process.

(D)
Removal of H is oxidation.

(A)
Oxidation is mainly due to o — Hydrogen.

(C)
Diethyl carbinol is tertiary alcohol.

(C)
CH3—OH & C,HsOH can be distinguished
by heating with I, and base.

(C)
CH,
H® /oH°
CH,—CH—CH=CH,——~—— (CHK)E—ICH—CHE—CHa
OH
(C)

In the esterification reaction, OH bond of
alcohol cleaves. The presence of alkyl
group with +l effect makes the cleavage of
the bond difficult and the alcohol becomes
less reactive toward esterification. Greater
the number of alkyl groups present lesser

will be the reactivity of alcohol.

NH,
CHOH e, @
i
(0]
@C\(j /J\@
@/NH
—_—
(D)
NH, N,Cl OH
HNO, H,0
H,SO,
(C)

26.

Sol.

27.

Sol.

28.

Sol.

29.

Sol.

30.

Sol.

31.

Sol.

(A)

OH o\/
@ +NaOH + CHI & | @
OH CHO
+NaOH + CHCI, 4 oH

o]
OH
0
@ + +H,50, 8 ,C,H,0,
o]
OH

N
OH ©: NO,
@ + HNO, —
NO,
(C)
CeHsOH ~ —=4 5 CeHsOCOCeH:s
Schotten-Baumann reaction.
(C)
OH OH OH
Br
ORENOMIO
Br
(Ortho) (Para)
(D)
OH
@ + Conc. HNO,
(B)
Fries rearrangment
OH
o) Io) OH
@/ \f AICl @:'( +
R ; R
0 R7O
(B)
¢! o8 al
H - (l: - Cl M} :(l: - Cl
Cl Cl

Dichlorocarbene




32.

(D)
OH Na
P
NaOH HCI
140c
COONa

Sol
COOH
Soda
lee
COOH
CI4
NaOH
+ CO, + H,0Soda lime,
33. (C)
OH
ONa
Sol. co, COOH
H@
34. (D)
OH cl
Sol. @ P — @
Low yield (minor)
(0]
Il /@
O—IP—O
o}
(Major)
35.  (C)
SOl i~ T Bk
0
. !
CH,-CH,-0-C-CH,
SECTION-B
36. (A
OH OH OH
Br. Br
Sol. @ + HQSO4*>© +Br,/water - \©/
SO,;H SO.H
37. (A
Sol. (CH3)3CON3 + C,HsBr —» (CH3)3COCQH5 +
NaBr
38. (D)
Sol. C,Hs0H + H,SO,4 (140°C) —— CoHs—O0—

CoHs
CQHsoH + H,SO, (12000)—) CH, = CH»

39.

Sol.

40.

Sol.

41,

Sol.

42,

Sol.

43,

Sol.

44,

Sol.

45,

Sol.

46.

Sol.

47.

Sol.

48.

Sol.

49,

Sol.

50.

Sol.

(B)

0—OH
(CH)O0 +0—0—> 7 g
Free radical
(A)
Kl and KSCN are used.
(B)
Alkyl halide undergo B - elimination

reaction.

(B)

Ethoxide ion act as nucleophile.

(C)

CH3;—CH=CH—O—CH,—CH; —==%—
CH;—CH;—CHO + Et CH;CHGl

A)
(C2Hs)20 + H® — C;HsOH
A)
|c|) CH,
CH—C—O—C—cH, _ NarCatbon
|
CH,
T
CH CH —OH + CH,— (I: OH
CH,
(8)

NBS

CH,—CH=CH, —¢g.— CH,—CH=CH,

CHONa . CH, = CH CH,OC,H,

(C)
It is correct that sodium phenoxide
(sodium salt of phenol) and CO, on

heating from sodium salicylate. This is
known as Kolbe’s reaction. Ethanol does
not respond to this reaction. Therefore,
assertion is true. But the reason that
phenoxide ion is more basic than ethoxide
ion is not correct.

(B)

Zeolites are shape-selective porous solid
acid catalysts, their catalytic activity
originates from the presence of highly acidic
Al-O(H)- Si hydroxyl in the framework.

(C)
Ethers being Lewis bases form etherates
with Lewis acids.

(C)
A mixture of conc. HC/ + anhyd. ZnCl, is
called Lucas reagent.




